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Mo, Eva and Ron are trying to simpl

T can't simplify
this because one number
is odd and the other

s even.

T can't simplify
this because only one number
can be halved.

1 can simplfy
any fraction.

Do you fully agree, partly agree or completely disagree with
each person?
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@) Draw lines on the bar model to show that

s 3
equal to 3.
is equal to &

b) Complete each bar model and calculation.

olw

Simplify the fractions.

8
b) 2 d)
k] a0 120
16 160 4
a4 8 a0 12
20 20 200 ~ 400

Describe and explain any patters that you noticed.





